12R

18 (%)
kB =4 E — A&y
EXS=E
£ |ma%xEH 60
Et BEE X (FH) 70
A KiE Fit 6
XAz FiE 7
4
3, |4E 206
T [stecnfmt- BHL 55
T [&E 15
‘g ais 0.1
o TARA 6
- fit=taih 4
H |ADEET 4
A LoHL 4
N |HSEH 0.6
A [T 2
o LB 1.2
C HYA 0.7
x |[TASA 03
s B 6
X
=z HEFRA (2 X 26mR S5 A R) 8
D EE 1
g (&) XEkE 12
= DETAITRL 20
F#ouLsE 1.5
= |AB 10
A (A &L AIFA 500g 3
F |54 0.5
D L&SH 22
; N=f ] 1.2
K HYA 0.5
L & 7
v
D2 ) FAIE 30
o BHBL 25
7 Az 5
? WYEoE 1
L&SW 2
B 15
N=f 1
HS55 0.5
CEH 0.5




B 12A

48 (H) 58 () 68 (JK) TH(KR) 8H (&)
k4 B4 —A&Y | |#z% B4 —AN&Y | |#us B4 —AN&Y | |#iz% B4 —A&Y | |#xs BRf —A3HY
E%RDE ERDE RS E ERDE ERDE
S EDA 50| |& BBk (BRK) 59| |&E [HEX(EE) 60| = |HEEX(BK) 72| (3 [2yRiSU GLED 50
SR EEAR, 60| |Y [k#iE B#& ol |5 [HEXEH) 70 % BEK (B TN S EYZITIE Ty 60
< & Sk 0.5 Y KHE ?,'é‘f 6 sxoRib K 05| °c
5 ant 206] |5 |omme memaLoom 9 XbiE FE g 5 432, 206
E G8)E8B e BAL (1 X 1om) 6 4 ) 43, 206
4 |BRLE@x2mR542) 20| |5 |EWLIIEFS 15| |z, (43 206 4 |WISAEFEY % 40
2 BAESHE 1 |2 AS 5 b BRI (2 X 20m2 54 R) 25 (%L MISAREFE /N 50
~N—ar (55f) 5[ |~ CRTERT ke 5[ | [ozasms casanz 40 |5 bpii] 1 M ISARFXY B 60
EI=E 20| £ [dR)k—ra—> 5 |A |tattas 4| |¥  [BBEE@1 a0 18| |7 |faf-Aaith 4
R 40 ]L\ FLLLE [ (RFAR) os| |F £z 12| |€  [Em 30| |7
e e | |7 [Cxa ]2 Lo 25 |2 [Az o | [whzcomE 8
o |meEaxexo smes 10 El LI N =L 25 '0) () EBLAIFA 500g 1|5 THA=(TIL) 5
h NS 10| (4 LS5 L7 e |BYA 18] |5 ELWNVE (RS2 BE- 1k CINES AS 10
Yo ([BSFH 05| [z [FEravyA 12 | |EE 18| | |L&LIW 35| [ [Ew3Y 15
| INEH 35 Bif 03| |E [TARA 02| |& |Z=B# 3 FyAy 13
Ly Y55 5H 3l [E |2L&S 0.03 & 9 BiE 03| |7 |&AY 2
2 |[(®prs2—F 3| || = B [myE LA 2| |7 |&EE 15
[FEraLus 05| |7 &3 206 [*  [EAqoLER 30| [ [k 50| |¥ [EEgm 12
7 BiE 04| |~ d 3oL 30 < j (A)LEVR BE-500 1
[ v v Ed — N R
w 2D 002] |5 |B—2/\4CEf) Bk L [AZ 10 |p [BRTE 25| |y | MTFH 1
o [AEA4E 25| | [BPL 25| |5 [L&DW 25| [ |BBL 25| |5 |BiE 03
o |[EDY—=L 2 FoF YA 15| |z | BEE 22| [ [EF¥RY 20| [ |SL&S 0.03
| EYRAF—X 1.5 AS 8| | [CFim 1 [&F  [LLIR 2.3
20 50| 3 |[E=Zv 5 & | LB 12| [ | EE 17 ~A—av (Safi) 7
Y T LL38 25| |A  [wyBcE 1] 12 [EaE | @ [wmoy—sa— 40
7 |wvavar—owh e 25 "i j=113 25| |b ~| ;) R—)La—> 5
E Py 30 ; Ia=t 13 [? [Tk 15 '5)’: B A 80 ; E 30
(F)k—la—y 5 = [E=EH 1|4 |EZ 30| |4, VAN U] 05
BEt 3l o [2Lip 0.06] |(v  |AB 10f [~ 7 |HSFH 0.5
iA=L 1] |=x S bi::k 1V 8| | ()R R—F 4
AU—7Jh 1 | (LM)59 500 1ke 250 A |[hhE 5| |# I—VRE—F 15
Y545 5H o5 |7 |EH 30| i+ [haE 5| (D Bis 05
BiE 04| [ |AB 5 H#E 5 |#* L&> 0.03
cL&d 0.03 j ZDEIT 5 ZFL =LA 4| [~ FEoavyHt 0.3
5 ¥ 5 ol 110 & 100
2 EnBR—F 4
+ (L&KW 0.5
Y FExrarvi 0.3
v (BB 0.4
~ |ZL&D 0.03
T [5 125
)
# [@EEvrrFey 15




B 12A

118 (A) 128 (K 138 (K) 14H (K) 158 (£)
k4 B4 —A&Y | |#z% B4 —AN&Y | |#us Bht —AN&Y | |#izz Bnb —A&Y | |#xs Bht —AZHY
E%RDE ERDE RS E ERDE ERDE
% BEX(EF) 60| |1 [EBEK(BR) 59 |IL  |wwoses snzon -3 200| | |FBEARK(ER) 60| |2 |y 50
< B (ER 70 (A [k#E B® 6| |2 |wmwwes snzox| |46 280| (BT [EX(FH) 0| Y |[3usisy 60
‘g kHiE B of | [Emmatk 05 'f (S ToEL ShE0S CRET N FETE 6| |75
XKiiE FiE 7 |z |Betexemzsz) 15 5 (A ttmeLexim 8l L KiE T s aat 206
L 1% RS 5 |& 2B M- EAL (2 x 1om) 12] |]
L ULBLLaolE 125| (A |[RASAWLEES3m) 12| |4 [EE 1|5 (&5 206| (4 [4PI(2emF) 30
H ~ |AZ 7 ThARS 10| |« L Y 0.5
(OBENE TN 206| (£ |G oET 1ke 5| |4 [@Blf 8| | R |mHit(x3mz542) 25 Kh A 50
2 ]L\ FLLLE (R54R) 05| B [x#R 0| |~ [Em 40| R [E2 30
;j 4509 (3 X BemRSAR) 20 \J/ Y55 038 - By (1. 5em) 20 ? Cohinrg 25 f}’ Ry 20
= |[TAass 15 L&S5K 3| |5 AS 10 E AH S 20 ; A 10
T WM S5HMTke 25| |4 [BE 2l |5 [ 5 |4, [RASAWELS5m) 15 +ay 3
o |ODEBF YR ke 25| [z |EBE%E s [LedR 5 | |EBAS 74 R VAN 4 0.3
o | KR 35 BiE 05| (o [#YA 1 +0Oy 3| |+ [HS&FHE 2
& [FRSAITeL 20| A »n  |FEE 1 14 [I2AlzX 05| [k () FMrFryT ke 4
- Az 10| [~ (43 206 [> |BiE 04| |2 [&£= 05| [¥ [@wrzrEa—L ke 4
(#) EREA rvk) il ¢ » [HFL £LA 5 BS54 58 1|7 [HRESE 2
f'i HaHZ 5| |5 |ezosmmmns s| [F [k 50 |0 [z | ¥ [a& 05
o |kaE 3 | [EAaTES@m 6l |5 PRI 1 L&S 0.05
= |BDE 3 | [EwIY 15| |g |45 206| |, |[HSFH 4 () MR 3
- | BEE 1|12 [As 5 |v L | HER—T 4 FE A4 04
& |[Led 08| |¥ [EHHEMR 08| |2 [2xnscssattz 35| |4 |@rRMrFvyT Tke 2 o—yzxT 0.1
s |k 50 [P [L&LSK 2| |V |ff-taim 4 [ |mRE—Y—ZR 1.3 £HY—L 2
T v [BEE 22| |1 |&k 008] (@ [AMDY—R 1 B 80
A e 15] |4, [CEm 1 (@ Y Lesw 1
R Ay 20| |# iA=L 1.2 3?\ (3) Tavay—Chob) B 30 Zf F YR 450g 1 Cehlr 60
T L 15| |4 |BYBZE 05 |5 |L&dW 1.6 FASESH 1 AZ 8
£ AS 5| |it % R BE 08| |= BiE 0.5 (fF)h—La—> 7
& [ R—iba—y 5 5 25| [z |fEDDE ke 06| |ig [=L&S 0.04 W TiE 1
- L&l 5 ?; g 7 ~  |[FErarys 05 (B)=3%—X 8
3y |[E==v 3 DECAITRL 10 N 60
/!\ ;bzbl‘gm%) 0.111 %\ %2:’(1‘5 13 ;I';
A wyac L |[AB 7 Q |[LEBYDA 2
_T; CHLEL Rt BE-500g 2| & |HhRFE 5 7 BAYLER 25
5 BEE 1] [< L&L5W 2 KR 35
g [Led® 15| |Y |&& 0.4 AB 7
=t 11| [P [EygE LA 4 B 25
CE 05 )’{ HUE i +5 5 1
k K 120 iA=L 1.2
- Bif 0.3
I () BROSOFNLERDAILE 30 L& 0.03
h
2 50
% HroE 1




18H(A) 198 () 20H (7K) 21H (K) 228 (%)
e BRd —A%Y | |wze BERt —A&Y | |mza BR4 —A%Y | |wza BRd —A&Y | |sze BR4 — A%y
EhRDE EkRDE EkHE EkHE ERNE
< |BaxER) I REINEEEEYET)) 60| (K [#EEk(EHK) 59 |12 [ayxsso (ED) 50| £ |[#EX () 60
F [gEExER 80| [= [HBEX(FEH) 70| |2 [RuE BK 6] |7 |2yt GLED 60| |- |HBEX(EFE) 70
~ % KHE B of | [matx os| | 'z KHE B 6
. 43 206 KuE Fit 1 4 [EAex2mz542) 15] [, 43 206 KuE Fit 7
3 & B KXEKRE 12 4
BBt (3 X B3cmAS A R) 40 2 43, 206 § SH #’33 H: 3 =S OB ALL—Y 2onfb]- EHEREL 50 2, 43, 206
w  |EB 1 A |AB RIRER AR 2
14 |LLSW 1| & |me m-sulex2m 21| (Y TERT 1ke 5 BiE 01| | |mmiGx3mz542) 20
= FrRy 40| |L B b EAL (2 x20m) 14| |~ Y558 0s| & TASA 8l [P CA)EBIF (Hvb) 1kg 50
ET 35| [ [EE i EE 2| P [tettam 6| B [oEcalze< 20
? =l DK E GR—IL) 15 * W AlZpL 25 ﬂi L&5 2 :lé (A)LEVRI BE-500g 4 Z AS 10
AS o] |¢ [EnSES 25| | [LEE 05| | |LEm 3 | [omzewairs soos 5
= |E==v 8 iz |AR 20| |« |[BE 05| [v, |L&IW 2| | [KEDULE 3
* |£E=E 1|l |[hacskWLbes5m 20| |48 | = ([YSFHE 1
= Izalz< 05| |& |EBAS 10f | [&E 206 | R |@wTovay—owh ez 30| [ [L&3W 4
A |SFEH 1 |2 |aeualts 500 8| | € W TiE 05| |2 |[Z=iE%E 3
I &z 2l | [Funrsid@sgr) o8| |F¥ |gm uvEm 20| @ £ |BYh 05
7 e 07| | [Cxma 15| |2 |x# 8| | [A—=vEm) 10| B [k 20
< ] LI, L&dKp 35| [ A 10 Z B EVAFAT 1ke 10/ 1,
5  [LsiW 15| |5 [ 25| |5 [BITUVE—=ZR 5 |y |[EE 20| |y |LEBYDHA 5
7 |ERE 005 [¢ |TARA 07| |z &= 05| 5 |B=X 20| |y |BBL 30
[ Yy [k 6| [ [HSFiH 05| |y |AB 5| (4, |DiaZ 25
)L |E8Op 20 v |L&SK 3| || IHha=(CT)L) 5/ | |AB 5
~ |E#& 25| (LY HE)FAIE 30 | |[EEE 1.7 +0aY 3l |1 |L&Sw 2.3
A 7115 Bl 25| |#* & 1% [54eY 05 R BE 0.7
T Let 1| S [Az 5| [T [2Y4 1| |2 [@ssz—7 4| |2
gi hhE 3 3 L&5K 2 it TASRA 0.5 E L&S5K 0.5 ; (B)2a7 7y S8l 28
- |[E®HHR—T 4] |BEE 1.5 Lt 10 |z [FEravyl 04| |5
FELaAUYA 05| |z |LEHE 1 [ BiE 0.5 |w
BiE 03| |x [¥S&iHh 05 p:iE v 71 |7 |2L&S 0.03| [z
cL&d 003| |18 [ZFH 0.5 () HEL (2 x 20m) 30 3 110] )L
> 120| [~ E&® 25 ~
N pzyY 6 ¥ 5 I
(B hEETF (XT7—L) 10 3'; WYBRITE 1 hHZ 6 3';
# HYA 0.9 HH&E 5 #
= 0.7 ZFL LA 4 _
LLSW 0.35 7K 120
7K 0.7
() KEb5 (FELBD) 30




